A, B, C D E 53¢ == A, A7 B Bt= Fol A7

Pt A9 58 7

ot

5]

24

ull
S

RO

o,

ot
wehA 4x3x2x 1 =24 (71A)

xs]

1!
min
<+
o
o
ﬁo




ol 7=
_ B

% © il

T

op) ___uq

- HFS =

ny ® o

3 i

a1 |

Ot <t | N

il P \F

fy o |

B F_

B @ .

T Bk

_ 0

T K o 1] % |

o mjn Q

(G

R

X

° Mo ]

Y

o & O




O.R,AN,G,E | 227} 217} A9 6] 71= gl & 35 &
obA 9L, ThA ol E o AL WS W, £ W B e 2}
A9 7HES B 8L ool

cCh "
[—= I}

>
> ®et:

od =

| =

B ,

A8 T WA 22 vt g FE

Lol dge
66 36
7lEX O,R,A,N,G,EQ] 67127} Qo m &

) 1 1
FE2 —x6==
B 36 6




ok T o] LA = 90° 91 2ZH47HE ABC oA 17} sABC ©]
W42 w, a1BC o] Wols Fatelat

iy
o
8

i)

vV V¥
0
i

10 cm?

TR 1R} o] 1 oA 7} ] o2 541 3231 247} whib
A D, B F 2t sk,

YA oA Zt Hof o]2= A& x 2t & o, Z+ Ho] do|=
O3} 2
BC=8-x+6-—x=10°]E& x = 2cm

AIBC ¢] Ylo]& = x10x 2 = 10(cm?) ©]t}.

N | =




th 1™l aABC = B = 90° 1 AZH4Zo]al, oACDE
_ 1
Z|Atztegoltt, AR = 5AC, ZACB = 30° o o], /DEF ¢} /EFC

2719] 2=

30

@300 @3 O @36 O

rr

9

B

AC 9 EFH 0SS HoH H 0L aAABC 9] 9402 AR =
AO =0OC = OB °|t}.

/BAC = 60° 0|22

(EAB = 60° + 90° = 150°

/ABE = /AEB = (180° - 150°)=-2 = 15°

/(DEF = 90° — 15° = 75°

(EFC = 90° + 15° = 105°

. /ZEFC — /DEF = 105° — 75° = 30°




e L Ayt Aol @

©a=-5 @+ - ®az
®a=1




